1. 
$$\begin{bmatrix} 4 & 6 \\ 5 & 9 \end{bmatrix} \begin{bmatrix} x_1 \\ x_2 \end{bmatrix} = \begin{bmatrix} 6 \\ 6 \end{bmatrix}$$

- a) Write down the inverse coefficient matrix either from memory or using technology and use it to solve this system, showing the matrix multiplication steps of pairing like entries before adding their products and simplifying.
- b) Write down the system of scalar equations equivalent to this matrix equation, and backsubstitute the solution into each equation to verify that your solution does solve this system.
- 2. Express this linear system in matrix form, evaluate the determinant of the coefficient matrix with technology to show that it is invertible, and use the (technology delivered) inverse matrix to solve the system (state that matrix explicitly):

$$x_1 - 3x_2 - 3x_3 = -3$$
,  $-x_1 + x_2 + 2x_3 = 9$ ,  $2x_1 - 3x_2 - 3x_3 = 0$ .

Show the matrix multiplication steps of pairing like entries before adding their products and simplifying.

## solution

► solution

(a) 
$$A = \begin{bmatrix} 46 \\ 59 \end{bmatrix}$$
  $\det(A) = 4(9) - 6(5) = 36 - 30 = 6 \neq 0$   $b = \begin{bmatrix} 6 \\ 5 \end{bmatrix} \rightarrow A \times = b$ 

$$A^{-1} = \frac{1}{6} \begin{bmatrix} 9 - 6 \\ -5 \end{bmatrix} \begin{bmatrix} x_1 \\ x_2 \end{bmatrix} = \frac{1}{6} \begin{bmatrix} 9 - 6 \\ -5 \end{bmatrix} \begin{bmatrix} 6 \\ 6 \end{bmatrix} \begin{bmatrix} x_1 \\ x_2 \end{bmatrix} = \begin{bmatrix} 9 - 6 \\ -5 \end{bmatrix} \begin{bmatrix} x_1 \\ x_2 \end{bmatrix} \begin{bmatrix} x_1 \\ x_2 \end{bmatrix} \begin{bmatrix} x_1 \\ x_2 \end{bmatrix} = \begin{bmatrix} 9 - 6 \\ -5 \end{bmatrix} \begin{bmatrix} x_1 \\ x_2 \end{bmatrix} = \begin{bmatrix} 9 - 6 \\ -5 \end{bmatrix} \begin{bmatrix} x_1 \\ x_2 \end{bmatrix} \begin{bmatrix} x_1 \\ x_2 \end{bmatrix} = \begin{bmatrix} 3 \\ -1 \end{bmatrix}$$

(a)  $A = \begin{bmatrix} 46 \\ 59 \end{bmatrix}$   $A = \begin{bmatrix} 4(3) + 6(-1) = 12 - 6 = 6 \\ 5(3) + 9(-1) = 15 - 9 = 6 \end{bmatrix}$ 

(b)  $A = \begin{bmatrix} 1 - 3 - 3 \\ -1 - 3 \end{bmatrix} \begin{bmatrix} x_1 \\ x_2 \end{bmatrix} = \begin{bmatrix} -3 \\ 9 \\ -1 \end{bmatrix} \begin{bmatrix} -3 \\ -1 \end{bmatrix} \begin{bmatrix} x_1 \\ x_2 \end{bmatrix} = \begin{bmatrix} -3 \\ 9 \\ -1 \end{bmatrix} \begin{bmatrix} x_1 \\ x_2 \end{bmatrix} = \begin{bmatrix} -3 \\ 9 \\ -1 \end{bmatrix} \begin{bmatrix} x_1 \\ x_2 \end{bmatrix} = \begin{bmatrix} -3 \\ 9 \\ -1 \end{bmatrix} \begin{bmatrix} x_1 \\ x_2 \end{bmatrix} = \begin{bmatrix} -3 \\ -1 \end{bmatrix} \begin{bmatrix} x_1 \\ x_2 \end{bmatrix} = \begin{bmatrix} -3 \\ -1 \end{bmatrix} \begin{bmatrix} x_1 \\ x_2 \end{bmatrix} = \begin{bmatrix} -3 \\ -1 \end{bmatrix} \begin{bmatrix} x_1 \\ x_2 \end{bmatrix} \begin{bmatrix} x_1 \\ -1 \end{bmatrix} \begin{bmatrix} x_1 \\ x_2 \end{bmatrix} = \begin{bmatrix} -3 \\ -1 \end{bmatrix} \begin{bmatrix} x_1 \\ x_2 \end{bmatrix} \begin{bmatrix} x_1 \\ -1 \end{bmatrix} \begin{bmatrix} x_1 \\ x_2 \end{bmatrix} = \begin{bmatrix} -3 \\ -1 \end{bmatrix} \begin{bmatrix} x_1 \\ x_2 \end{bmatrix} \begin{bmatrix} x_1 \\ -1 \end{bmatrix} \begin{bmatrix} x_1 \\ x_2 \end{bmatrix} = \begin{bmatrix} -3 \\ -1 \end{bmatrix} \begin{bmatrix} x_1 \\ x_2 \end{bmatrix} \begin{bmatrix} x_1 \\ x_2 \end{bmatrix} \begin{bmatrix} x_1 \\ x_2 \end{bmatrix} = \begin{bmatrix} -1 \\ 1 \\ 2 \end{bmatrix} \begin{bmatrix} -3 \\ -1 \end{bmatrix} \begin{bmatrix} -$